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ALGEBRA AND SIMPLIFICATION
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e ————— =
(a® + ab + b?)

WSS &S5 mIS 6T )

N

, C
® (a + b)?=a?+ b? + 2ab
e (a—Db)> =a?+ b?-2ab
e (a+ b)? + (a—Db)? = 2(a® +b?)
e (a+ b)?=(a—Db)*+ 4ab
® (a—b)* = (a + b)*—4ab
e (a+ b)(a—b) =a?-b?
e (at+b+c)? = a®+b?+c?+ 2(ab+bc+ca)
e (at+b+c)® = a*+b3+c+ 3(a+b)(b+c)(
° a::zz =a+b
i

a’+ b® = (a+ b) (a?—ab + b?

a’—b®=(a—b) (a®+ ab + b?

3 3
a”“+b
ﬁ:a‘kb
(@ —ab+b")
a’ —b°
=a-b

e a°-b’=(a+b)(a—-h)
e (a+ b)) =a®>+ 3a’b + 3ab? + bd
e (a—b)® = a®>-3a’b + 3ab?-b°

o XM " = xm+n

c+a)

a’=1
b b"
, [a_a
b b
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‘B’ Stands for 'Bracket’
‘D’ Stands for ‘Division’

‘A’ Stands for ‘Addition’

BODMAS a4 :
'O’ Stands for 'Of”
‘M’ Stands for "Multiplication’

'S’ Stands for ‘Subtraction’
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i Fllwss eamaflar @ossbisaflsar o Hiso 5.
I|H6T @SSHEIGT @I LTHYOIUL LT HenL &@Ld
S erevoresorment &, GE&TOSSILL L 6Tetoremevor eilL
27 @mme| sTafled, 9|k 6T6wTen6wT S & IT Ut &.

Siey :

X STETUGI USSTLD @608 6T6ToT 6T60T MILD

‘Y TETUS RETMTLD @S 6Tetam 6TaiTMID QST6TS.

x+y=56 . (1)
UGS STLD | eTmmid [ Ly
@ssh | @ussin
GaTh\&e0uL L 6Tevor X y 10x +y
Ul 6T 6t b% X 10y +x
L& SRS emaT
GLunpu dne

Qarhi&esiul L eTer — @Ol L e = 27
(10x + ) - (10y + x) = 27
= 10x—x +y—-10y = 27
= 9x -9y =27
=>x-y=3
x+y=5...01)@domHsy =5-x.....(3)
guerur@® (3) & (2)-@ed Wirdui,
x—(B-x)=3
x-5+x=3
2x=5+3=8
SLx=4
X = 4 eteor (3)-@6v UlTHuilL,
y=5-4=1
10x + y=(10x4)+1 =40+ 1 =41
Garhssiu L mifluss eTeimenflsr (@& & misefler
(60 5.

iflumi & 860
x+y=5
4+1=5

Garheslul L eTeior — L eresor = 27

41 - 14 = 27

Sie| snreans : 2x -3y =7 ;5x+y =9
Sirey :

2x -3y =17

5x+y =9 ... (2)
gustur(h (2)—-@le @)\mhs
5x+y=9

gustur® (3) & (1)-@led LirdHui,
2x—-3(-bx +9) =7
=2x + 1bx-27=17
=17x =7+ 27 = 34
34
LX=—=2
17
X = 2 eTeotueng &Ferur(h (3)-@lev FSuil,
y=-5(2)+9

=>y=-10+9 =-1

x=2:y=-1]|

Siie| STeurs :
1.5x + 0.1y = 6.2; 3x- 0.4y = 11.2
Sire) :
1.5x + 0.1y = 6.2
3x—-0.4y =11.2
(1) x 10 => 15x+y =62
(2) x10 = 30x -4y =112
gusrur® (3)-@edlmn )
16x + y = 62
= -15x + 62
gwerur® (5) & (4)-@leo WiFSuil,
30x — 4(-15x + 62) = 112
= 30x + 60x — 248 = 112
= 90x = 112 + 248 = 360

360
="—=4

90
X = 4 ererueng Ferur(® (5)-@ev WiFSHuiL,

y =-1bx + 62
y =-15(4) + 62
y=-60+62=2

[x=4:y=2]
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4. gie) srens : V16x —3x 4x —3x
5> —F—=1=—F—=1
10% of x + 20% of y = 24 ; 3x—y = 20 J8 Js
Sirey : :>sz§
£X+ﬂ =24 \/g . . 1 5 el
100 100y x= sTeoTLIEmS ELosarLm(hl (1)—@leb LilFSudlL,
x+2 — =
5 =16 -3y =1
x+ 2y =240 ... (1) \/_
-y =20 .. @) =4-v3y=1
suATLTG ()~ B\, = -—V3y=1-4
3x -y =20 3y =-3
-y =20-3x /\/§y=/3
y=23x—20 ...... (3)
: ) 3 3
guerur(® (3)-g (1)-@lsv WirSuil, y= T X T
x + 2(3x - 20) = 240 3 3
= x + 6x— 40 = 240 yzﬂ
= 7x = 240 + 40 z
2 =
L x=Z0 g y=s
X = 40 stetrueng sTumr( (3)-@ev WFéuil, X = \/g V= \/5
y = 3(40) - 20 6. Siiay smers
y =120-20 = 100 2 3 4 -9
—+t ==2, =+ ==-1
[x=140,y=100] Jx oy x y
5 &ie sraws : . 1 1 .
eniy:| — =a; =D ereni&
x/Ex—\/Ey=1;x/§x—\/§y=0 ( X y J
Sirey : Siiey :
1 1
ex—V3y =1 ... (1) —=a, ——==Db s
x Ty
\/Ex—\/gy =0 ....... (2) 2 3
gLerur(® (2)-@edmnb s, _x + ﬁ =2 ... (1)
\/gx—\/gy =0 4 9
—_— - —==-1 ... 2
#8y = Al3x NP (@)
V3 (1) = 2a + 3b = 2
Yy=—=X . (3)
J8 (2) = 4a-9b = -1
Fuerun() (3)-g (1)-@eb tirG, swerun® (1) Gdlmhal 2a + 3b = 2
\/Ex—\/§y=1 = 3b=2-2a
3b =-2a + 2
Jax_@[%x: ~ e
8 _e@aLe 3
J2x 3 b=—=+ - ©
= —-—x=
1 \/g gustur® (3) & 2 @l6b rudl,
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-2 2
=>4a—9(—a-l- —)2—1
3 3

18 18
=4a+—a——=-1
3 3
—4a + 6a-6 =-1
= 10a-6 = -1
= 10a=-1+6=5
1

5
La=—=—
10 2

1
a= > sTeaTLIEmE FLostTum(® (3)-(@led NrdHui,

—2a 2
b=—+—
3 3
-21\(1 2 -1 2
3 2 3 3 3
-1+2 1 1
= — b:—
3 3 3
1 1 1
a=— :>_:_
2 X
S Jr=2=x=4
b_l - 1 1
3 " Jy 3
[x=4:y=9 |
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agsaflar & Higme GUITEM e6TN LOL BISTGLD.
ohsTamrhiser sfl5s  geuflar  auug  Her s
unsarsaflar auwgsaflsr o Qsmeon Gured @@
LLBISTG0. @rrueafldar SHCUTMSL  aIMS 5
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Sirey :

@rmoesflsiT eUILIG! X 6T6ITS.

@ mussrasflsr auugseflsr e (Ogn = y

x = 3y
5 g HsEnsEL NG,
x+5=2@+ 10)
x+5=2y+ 20
=>x-2y=20-5
=x-2y =15
guerur(® (1) @eSlmha x = 3y

x = 3y steiTueng FuesTur(h (2)-@led Lr&ui

3y—-2y =15

sy=1b
y = 15 stettueng gwerur® (1)-@ed Hirgui
x=3y=3X%15b
X =45
@rrweflsr eug = 45 gy er(HissT
100 wpmid 1000-mHE @oLGw gmwoujn
epeit 10585 67 etor coufleoT HH @EVSSID LI, s)eILILNT & LD,
wHm @ Eesshisafldsr F(hige 13 g sen
2 eremer. @E&SHBIGmT @10 WwrHM 9SG
Gurg HewL&HGID 6T6CUTCITT6N I, O|hE& 6T 6U0T 60 650T
il 495 gifaid eTafled, 9|hs 6T6wTeM6HITS & IT 6HoT .

Sire :
Gaemaumenr eTetor x0) eT6irs.
x+y=13 ... (1)

@osanisamer @ LD Lommlu 16Tl 2 (meumesr L 6Tetor
y0x eT60T .

x0y = 100x + 10 X0 + 1 Xy

y0x =100y + 10 X0 + 1 Xx

100y + x— (100x + y) = 495

100y + x —100x —y = 495

= —-99x + 99y = 495
(1) x-99 = —99x — 99y = -1287

(2) = -99x + 99y = 495
—-198x = -792
—-198x = =792
792
x=——=4
198
X = 4 eretrueng Fsrum® (1)-@lsv Wy,
4+y=13

SLy=13-4=9
Gapemeuwimenr eTevor = 409

B&s6 enmuiled S| &irewrs.
4a + 3b = 65 wpmid a + 2b = 35

Sire :
4a+ 3b =65 ... (1)
at+2b=35 .... (2)

swerur® (2) @ 4 96 CUmHSSD
(2) X4 = 4a + 8b = 140

(1) =4a+ 3b=_ 65

G I G R O
5b =

75
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